s ?fﬁ% SR OB G HA R 438

4 H 391 e

| W
+
| N

N | =
+
\ORIEN
I

2 2
5 5

+
DN

(O N\

+
(O, N

n| —

ool =—
+
co| WD
Il

ol
+
co| W
I

_|_
n| —

n| —

_|_
[E—
W

1w

1w
_|_
U
BN\
I

www.snowmath.com


https://www.snowmath.com

= ?fﬁ% SIUCE | OB HI R 43 )

4 sEil R
3 6 9 4
—+t-==-=1=

5 5 5 5
1+7_4

2 2
12+12__14__24
5 5 5 5
2 7 9 4
—+-==-=1=

5 5 5 °5

1 4

—+-=1

55

1 5 3
_—|—_:—

8 8 4

4 3 7
_—|—_:—

8 & 8

1 1 2
__—|—._:—

5 5 5
3+13_5_21
4 4 2 72
3+12_9_21
4 4 4 "4

www.snowmath.com


https://www.snowmath.com

